Filing # 64 February Revised 21-216-GA-GCR

PURCHASED GAS ADJUSTMENT COMPANY NAME: <u>SUBURBAN NATURAL GAS COMPANY</u>

GAS COST RECOVERY RATE CALCULATION

PARTICULARS	UNIT	AMOUNT
EXPECTED GAS COST (EGC) SUPPLIER REFUND AND RECONCILIATION ADJUSTMENT (RA) ACTUAL ADJUSTMENT (AA)	\$/MCF \$/MCF \$/MCF	5.3709 0.0000 (0.0872)
GAS COST RECOVERY RATE (GCR) = EGC + RA + AA	\$/MCF	5.2836

GAS COST RECOVERY RATE EFFECTIVE DATES: February 1 -February 28, 2021

EXPECTED GAS COST SUMMARY CALCULATION

PARTICULARS	UNIT	AMOUNT
PRIMARY GAS SUPPLIERS EXPECTED GAS COST UTILITY PRODUCTION EXPECTED GAS COST	\$ \$	9,603,617
TOTAL ANNUAL EXPECTED GAS COST	\$	9,603,617
TOTAL ANNUAL SALES	MCF	1,788,091
EXPECTED GAS COST (EGC) RATE	\$/MCF	5.3709

SUPPLIER REFUND AND RECONCILIATION ADJUSTMENT SUMMARY CALCULATION

PARTICULARS	UNIT	AMOUNT
CURRENT QUARTER SUPPLIER REFUND & RECONCILIATION ADJ. PREVIOUS QUARTER REPORTED SUPPLIER REFUND & RECON. ADJ. SECOND PREVIOUS QUARTER REPORTED SUPPLIER REFUND & RECON. ADJ. THIRD PREVIOUS QUARTER REPORTED SUPPLIER REFUND & RECON. ADJ.	\$/MCF \$/MCF \$/MCF \$/MCF	0.0000 0.0000 0.0000 0.0000
SUPPLIER REFUND AND RECONCILIATION ADJUSTMENT (RA)	\$/MCF	0.0000

ACTUAL ADJUSTMENT SUMMARY CALCULATION

PARTICULARS	UNIT	AMOUNT
CURRENT QUARTER ACTUAL ADJUSTMENT PREVIOUS QUARTER REPORTED ACTUAL ADJUSTMENT SECOND PREVIOUS QUARTER REPORTED ACTUAL ADJUSTMENT THIRD PREVIOUS QUARTER REPORTED ACTUAL ADJUSTMENT	\$/MCF \$/MCF \$/MCF \$/MCF	(0.0528) (0.2880) (0.0067) 0.2603
ACTUAL ADJUSTMENT (AA)	\$/MCF	(0.0872)

Filing # 64 February Revised 21-216-GA-GCR

PURCHASED GAS ADJUSTMENT SUBURBAN NATURAL GAS COMPANY

PRIMARY GAS SUPPLIER/TRANSPORTER

DETAILS FOR THE EGC IN EFFECT AS OF	December 1, 2020	AND THE	
VOLUME FOR THE TWELVE MONTH PERIOD ENDED	August 1, 2020		

Columbia Gulf / Columbia Gas Transmission SUPPLIER OR TRANSPORTER NAME TARIFF SHEET REFERENCE RATE SCHEDULE NUMBER EFFECTIVE DATE OF TARIFF TYPE GAS PURCHASED X NATURAL LIQUIFIED SYNTHETIC

UNIT OR VOLUME TYPE ____ MCF PURCHASE SOURCE X INTERSTATE

CCF INTRASTATE X OTHER DTH

PARTICULARS	UNIT RATE (\$PER)	TWELVE MONTH VOLUME	EXPECTED GAS COST AMOUNT (\$)
INCLUDABLE GAS TRANSPORTER CONTRACT DEMAND DEMAND - GULF - FTS1 DEMAND - TCO Demand FTS	5.0490 12.6040	60,240 169,608	304,151.76 2,137,739.23
TOTAL DEMAND			2,441,890.99
COMMODITY TCO Transportation	0.0202	1,896,249	38,304.23
Symmetry Energy Monthly Supply Credit	(4,000)		(48,000.00)
TOTAL COMMODITY			(9,695.77)
MISCELLANEOUS			
TOTAL MISCELLANEOUS			-
TOTAL EXPECTED GAS COST OF PRIMARY SUPPLIER/	TRANSPORTER		2,432,195.22

Filing #64 February Revised 21-216-GA-GCR

SCHEDULE I - A PAGE 2 OF 2

PURCHASED GAS ADJUSTMENT SUBURBAN NATURAL GAS COMPANY

PRIMARY GAS SUPPLIER/TRANSPORTER

DETAILS FOR THE EGC IN EFFECT AS OF VOLUME FOR THE TWELVE MONTH PERIOD ENDED December 1, 2020 AND THE August 1, 2020

SUPPLIER OR TRANSPORTER NAME Columbia Gulf / Columbia Gas Transmission TARIFF SHEET REFERENCE EFFECTIVE DATE OF TARIFF

> TYPE GAS PURCHASED X NATURAL UNIT OR VOLUME TYPE _____MCF PURCHASE SOURCE X INTERSTATE

LIQUIFIED CCF INTRASTATE

RATE SCHEDULE NUMBER

SYNTHETIC X OTHER DTH

INCLUDABLE GAS SUPPLIERS

PARTICULARS	UNIT RATE (\$PER)	TWELVE MONTH VOLUME	EXPECTED GAS COST AMOUNT (\$)
INCLUDABLE GAS STORAGE			
DEMAND			
SST Demand Charges (Winter)	12.6030	41,106	518,058.92
SST Demand Charges (Summer)	12.6030	20,550	258,991.65
FSS Demand (unit price TCO Capacity Charge)	0.0672	4,588,428	308,342.36
FSS Demand (unit price TCO Reservation Charge)	3.7300	61,656	229,976.88
			-
			-
TOTAL DEMAND			1,315,369.81
COMMODITY			
FSS - Injections	0.0150	350,000	5,250.00
FSS - Withdrawals	0.0150	350,000	5,250.00
Capacity Charge - Injections	0.0672	350,000	23,520.00
Capacity Charge - Withdrawals	0.0672	350,000	23,520.00
			2
TOTAL COMMODITY			57,540.00
MISCELLANEOUS			
TOTAL MISCELLANEOUS			-
TOTAL EXPECTED GAS COST OF PRIMARY SUPPLIER/TRANSPORTER			1,372,909.81

PURCHASED GAS ADJUSTMENT SUBURBAN NATURAL GAS COMPANY

OTHER PRIMARY GAS SUPPLIERS

DETAILS FOR THE EGC IN EFFECT AS OF:	December 1, 2020
VOLUME FOR THE TWELVE MONTH PERIOD ENDED:	August 1, 2020

SUPPLIER OR TRANSPORTER NAME Symmetry Energy

	UNIT	TWELVE MONTH	EXPECTED GAS
SUPPLIER NAME	RATE (\$ per)	VOLUME	COST AMOUNT (\$)
OTHER GAS COMPANIES Purchase Cost: Gas Commodity	2.97	1,952,361	5,798,512
Gas conmonly	2.97	1,952,501	5,790,512
TOTAL OTHER GAS COMPANIES			5,798,512
OHIO PRODUCERS			
TOTAL OHIO PRODUCERS			-
SELF-HELP ARRANGEMENT			
TOTAL SELF-HELP ARRANGEMENT			-
SPECIAL PURCHASES			
TOTAL SPECIAL PURCHASES			-

This foregoing document was electronically filed with the Public Utilities

Commission of Ohio Docketing Information System on

2/2/2021 1:23:55 PM

in

Case No(s). 21-0216-GA-GCR

Summary: Report GCR Report electronically filed by Daniela Bivens on behalf of Suburban Natural Gas Company